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MATHEMATICS
I. Choose the correct answers :
l. 1 million =how many lakh ?
(A)10 (B) 100 (C) 1000 (D) 10000
2. The smallest number of the following numbers 1000, 50000, 111,3222,225is
(A) 111 (B)225 (C) 1000 (D) 3222
3. 90 in roman numerals is
(A) XL (B) XC O Ccx (D)LX
4, lkm=...mm?
(A) 10,00,000 (B) 1,00,000 (C) 10,000 (D) 1000
5. In Roman numerals L stands for
(A) 100 (B)50 (©) 70 (D) 90
6. In a triangle the centroid is the meeting point of the
(A) Altitudes (B) Angle bisectors
(C) Medians (D) Perpendicular bisectors
7. First triangular number is
(A)3 B)6 (O)10 (D) 15
8. The successor of 27 is
(A)26 (B)25 (©)24 (D) 28
9. The predecessor of
(A)3 (B)4 (O (D) 12
10.  Which of the following numbers is not a factor of 36 ?
(A) 101 (B) 100 (C)99 (D)8
11. 1is number
(A) a prime number (B) acomposite number
(C) neither prime nor composite (D) an even number
12.  The predecessor of 100 is
(A) 101 (B) 100 ©) 929 (D) None of these
13.  How many vertices are there in a triangle
(A1 (B)2 O3 (D)4
14. The common factor of 3,4 and 9 is
(A1 B)3 (C)4 (D)2
15.  1000is divisible by
(A)10 B)6 O3 (D) 11
16. The LCMof5and6is
(A)10 (B) 100 (©)30 (D) 60
17.  Thereis anumber whose double is greater than its half by 45. The number is
(A) 60 (B)25 (C) 45 (D) 30
18.  The angle measure for half arevolution is
(A)90° (B) 180° (C)360° (D) None of these
19. The Shap(é is of
(A) Cone (B) Cylinder (C) Cuboid (D) Sphere
20. (-DH+?=-2
(A1 (B)-1 (&)XY (D)2
21, (4)+(+3)="?
(A)-1 B)1 (OXV) (D) +2
22. Inseries 1,3,7,15, ....... What is the next term?

(A)28 (B)29 (€) 30 (D)31
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A B)= 0=
Ok ®)F ©15
0 1
_+_ —_
1 0
A B)= 0=
Ok ®)F ©15
What fraction of aday is12 hours.
A l B i C i
(A) 3 B)7 © 3
111
3 3 3
(A)1 (B)2 €3

-1 1
............ +—=—

4 4
A B)= -
Ny ®)5 ©
111 + 100 =
(A) 111.01 (B)111.1 (C) 111.001
Areaof square=........
(A)sidex side (B) 4xlength (C) 2xlength
Solver+5=5
(A)O (B)1 (C)5
0.625 =
NE B) = 0
O (B) 5 © 5
5kg.59
(A) 5.005kg (B) 5.05kg (C)5.5kg

1
°10
(A)21 (B) 2.01 (©)2.001
Perimeter of arectangle
(A)Ib | (B)I+b (C) 2(+b)
Solve§+5=7
(A)1 (B)2 (€3
Theexpressionfor pdividedby 2is
p

(A) - (B) 2p () p+2
Theratio40cmto 1 meteris
(A)2:5 (B)3:5 (© 45
The perimeter of aregular hexagon
(A)3a (B)4a (C)5a
10+2+75% 100 ~
(A)12.12 (B)12.21 ©1nn
Which of thefollowingisan equationinavariable?

(N D-1N D\ N~19

(f\ v 1—N

(D) Noneof these

(D) Noneof these

L
©) ¢
(D)4

5
(D)

(D) 111.0001

(D) 6xlength

(D) -5
5

(D) 3

(D) 0.55kg

(D) 2.0002
(D) None
(D)4
(D)p-2
(D)5:2
(D)6a

(D) 21.12
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Theexpressionfor 1 addedto2pis

(A) 2p+1 (B) 2p-1 (©) 1-2p (D) p-2
Which of thefollowingratioisequivalentto 2:3

(A)4:8 (B)4:9 (©)6:9 (D) 6:12
Thecost of 10 note booksisRs. 100. The cost of 15note books..

(A) 10 (B) 100 (C) 150 (D) 250

How many linesof symmetry doesthefigurehave? - 5

(A)1 (B) 2 (©3 (D)4
How many pairs of adjacent anglesarethereinaquadrilateral ?
(A)1 (B) 2 (©3 (D)4
Each anglein square measures? degrees.
A) 45 B) 60 C) 90 D) 180
Which of thefollowingwill not represent zero ? 0 2.9
(A) 0+1 (B) Ox0 ©)— (D) ——
The difference between the predecessor of anumber atlthenumberitsdfis 2
(A)1 (B)-1 (©2 (D) -2
Theaverageof 5 numbersA,B,C,D and EisK. Whenwe subtract L from each, thenew average
(A)A-L (B) E-L (C) K-L (D) K+L
What isthevaueof pi?
(A)4.15 (B)3.14 (C) 4.05 (D) 3.05
GENERAL SCIENCE
Theorganism presentin human intestine
A) Luch B) Eathworm C) Tapeworm D) None
Amongthefollowing, which doesnot dissolveinwater
A) Chak powder B) Sdt C) Sugar D) Saw dust
Theleopardismember of the family
A) Dog B) Herbivore C) cat D)Bird
Invery cold conditions, bigwater dropssolidify intoiceand fall aspiecesof
iceknownas
A)Ran B) Hallstone C) Snow D) Dew
An examplefor magnetic materia
A) Wood B) Plastic C) lronnall D) Paper
Sweet potatoesare an excellent source of
A) Fats B) Carotenoidl C) Vitamins D) Minerds
Jamsarepreserved by adding
A) Water B) Sugar C) Salt D) Ol
When amagnet isbroken every pieceisa
A) Electromagnet B) Magnet C)Artificad magnet D) Horse magnet
areformed fromtiny droplets of water vapour
A)lce B) Dew C) Snow D) Hall stones
Thebutterfly uses to suck fromflowers
A) Mouth B) Sucker C) Nose D) None
Exampleof herbivoreanima
A) Tiger B) Bear C) Cat D) Buffao
Wooden door isan example of
A) Transparent B) Tranducent C) Opaque D) None
Mountain provide habitat for awiderangeof  animals
A) Water B) Terrigtrid C) Domestic D) None
_____isusedtoremoveimpuritiesfrom water
A) Didillaion B) Sedimenttion C) Decantation D) None
Husk isseparated from grainby theprocessof
A) Seiving B) Winnoing C) Sedimentation D) Hand picking
Makingfabricfromcottonyarniscaled
A) Ginning B) Treading C) Weaving D) Spinning
Pardld venationisobservedin
A)Sugar cane B) Neem C) Peepd D) Lemon

Besting of heart isan exampleof
A) Fast change B) Undesirable change C) Slow change D) Man-made change



69. arenatura disasterethat affect human lift

A) Drought B)Ran C) Floods D) None
70.  Thedementinabulbwhichgiveuslightis

A) Filament B) Glasschamber C) Base D) Terminds
71. Electricity requiresa forittoflow

A) Switch B) Bulb C) Conductor D) Insulator
72. Length of acurved line can be measured by using

A) Thread B) Graph paper C) Measuring cylinder D) None
73. isthestandard unit of length

A)Km B) Litre C) Meter D) None
74.  Thejoint betweenwrist andthecarpel is

A) Ball and socket B) Neck C) Hinge D) Glidingjoint
75.  Wecan seeobjectswith our eyes dueto the phenomenonof

A) Diffraction B) Refraction C) Reformation D) Reflection
76.  Whichof thefollowing character isdifferent from human and

plants?

A) Responceto stimulus B) Growth C) Movement D) Excretion
77. From which part of plant, excretion takes place

A) Roots B) Leaves C) Stem D) Flower
78. Ingredients of jilebi

A) Maida B) Jaggery C) Oil D)AlI

79. Lodestoneisan exampleof
A) Natural magnet B) Electro magnet C)Artifica magnet D) None
80. Likepolesof magnet each other

A)Attract B) repel C) Neither attract nor repel - D) None
8l.  Theprocessof water changingintowater vapouriscaled

A) Mdting point B) Condensation C) Evaporation D) None
82. Inour staterainsoccur normally from

A) October-December B) June-September  C) March-May D) May-July
83. arecaled natura scavengers.

A) Cranes B) Woodpeckers C) Crows D) Parrots
84. Flesh eatinganimasarecdled

A) Herbivores B) Ruminates C) Omnivores D) Carnivores
85. Themaeridswhichalow thelight to passareknown as.

A) Opaques B) Trand ucent C) Transparent D) None
86.  Whichismadeup of only one material amongal

A) Cycle B)T.V C) Plagticchair D)Bulb
87. Examplefor aquatic anima

A) Tiger B) Pigeon C) Crab D) Snake
88.  Sdltisproduced by seawater by the process of

A) Sedimentation B) Evaporation C) Decantation D) None
89.  Theprocessof separation of mud and sand iscalled

A) Rltration B) Didtillation C) Sedimentation D) None
90. Jutefibreisasocdled

A) Nylon B) Silk C) Goldenfibre D) Woollen
91.  Warangal isfamousfor industry

A) Cotton B) Jute C) Carpet D) none
92.  Cotton plantsarecultivatedin

A) Sandy soil B) Clay ol C) Black ol D) Red soil
93.  Theflat greenportion of theleaf iscalled

A)Vens B) Midrib C) Lamina D) Petiole
94.  Thewater releasedintheform of vapouriscalled

A) Photosynthesis B) Respiraion C) Transpiration D) None
95. isthemechanica and chemical breakdown of food

A) Condensation B) Photosynthesis C) Digestion D) None

96.  Whichof thefollowingisnot anatural change
A) Ripeningof fruits  B) Rustingof iron C) Changeinseasons D) Burning of wood
97.  Thenatureof seawater is

A) Sdty B) Tasteless C) Sweset D) Odourless
98. Flourosisaffeeted district among thefollowing
A) Krishna B) Khammam C) Warangal D) Nalgonda
99.  Whoinvented dectric bulb?
A) Eindien B) Faraday C) Franklin D) ThomasAlvaEdison

100. Theappropriateunit for measuring thicknessof coinis
A) Micrometer B) Millimeter C) Kilometer D) Centimeter



